

1. (10 points) Evaluate the following integrals:

• $I = \int (x^2 + 1)^2 dx.$

$$I = \int (x^2 + 1)^2 dx = \int [x^4 + 2x^2 + 1] dx$$
$$= \frac{x^5}{5} + 2 \frac{x^3}{3} + x + c, \quad c \in \mathbb{R}.$$

(1)

• $J = \int \frac{x^3 - x^2 + 3x - 1}{\sqrt{x}} dx.$

$$J = \int (x^3 - x^2 + 3x - 1) x^{-1/2} dx$$
$$= \int (x^{5/2} - x^{3/2} + 3x^{1/2} - x^{-1/2}) dx$$
$$= \frac{2}{7} x^{7/2} - \frac{2}{5} x^{5/2} + 2x^{3/2} - 2x^{1/2} + c, \quad c \in \mathbb{R}$$

(1.5)

• $K = \int \frac{x^2 - 1}{(x^3 - 3x + 1)^6} dx.$

$$K = \int (x^3 - 3x + 1)^{-6} (x^2 - 1) dx$$

put $u = x^3 - 3x + 1$ then $du = (3x^2 - 3) dx = 3(x^2 - 1) dx$
so $(x^2 - 1) dx = \frac{1}{3} du$

(1.5)

$$K = \frac{1}{3} \int u^{-6} du = \frac{1}{3} \frac{u^{-5}}{-5} + c = -\frac{1}{15} \frac{1}{(x^3 - 3x + 1)^5} + c$$

• $L = \int x\sqrt{7+6x^2} dx.$

put $u = 7+6x^2$ then $du = 12x dx$ so $x dx = \frac{1}{12} du$

(1.5) $L = \frac{1}{12} \int u^{1/2} du = \frac{1}{12} \cdot \frac{2}{3} u^{3/2} + C = \frac{1}{18} (7+6x^2)^{3/2} + C$

• $M = \int (1 + \frac{4}{x})^3 \frac{1}{x^2} dx.$

put $u = 1 + \frac{4}{x}$ then $du = -\frac{4}{x^2} dx$ so $\frac{dx}{x^2} = -\frac{1}{4} du$

(1.5) $M = -\frac{1}{4} \int u^3 du = -\frac{1}{4} \cdot \frac{u^4}{4} + C = -\frac{1}{16} (1 + \frac{4}{x})^4 + C$

• $N = \int \frac{1}{\cos^2 \pi x} dx.$

$N = \int \left(\frac{1}{\cos(\pi x)} \right)^2 dx = \int \sec^2(\pi x) dx$

$u = \pi x$ then $du = \pi dx$ so $dx = \frac{1}{\pi} du$

(1.5) $N = \frac{1}{\pi} \int \sec^2 u du = \frac{1}{\pi} \tan u + C = \frac{1}{\pi} \tan(\pi x) + C$

• $P = \int_0^2 |x-1| dx.$

x	0	1	2
$ x-1 $	$1-x$	$x-1$	$x-1$

$P = \int_0^2 |x-1| dx = \int_0^1 (1-x) dx + \int_1^2 (x-1) dx$

$= \left[x - \frac{x^2}{2} \right]_0^1 + \left[\frac{x^2}{2} - x \right]_1^2$

$= (1 - \frac{1}{2}) + [(2 - 2) - (\frac{1}{2} - 1)]$

$= \frac{1}{2} + \frac{1}{2} = 1$

(1.5)